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Multiplication (Vertical) Name:
Solve each problem. Answers
) 1,254 2 1,953 3 2.195 4 2134 .
X 3 X 7 X 5 X 3 '
2.
3.
4.
5 7,828 6) 1,709 ) 3,314 8 8,604 i
X 4 X 5 X 3 X 5 '
6.
7.
8.
9 6,730 100 8,370 1) 2.889 12)  5.689 .
X 6 X 9 X 4 X 2 '
10.
11.
12.
13) 3,583 14) 5217 15  7.385 16) 3,632 .
X 9 X 6 X 9 X 5 '
14,
15.
16.
17) 1,463 18) 4229 19 5,758 200 7143 .
X 6 X 7 X 6 X 5 '
18.
19.
20.
1-10 195(90(85|80| 7570|6560 |55 |50
[ M ath ] www.CommonCoreSheets.com 11-20(45(40|135|130|25(20(15|110|1 5] 0




=

Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
1 2 3 4
) 1,254 ) 1,953 ) 2,195 ) 2,134 . 3,762
X 3 X 7 X 5 X 3
3,762 13,671 10,975 6,402 , 13671
s 10,975
4 6,402
5 6 7 8
) 7,828 ) 1,709 ) 3,314 ) 8,604 . 31312
X 4 X 5 X 3 X 5
31,312 8,545 9,942 43,020 6 8,545
- 9,942
8 43,020
9 10 11 12
) 6,730 ) 8,370 ) 2,889 ) 5,689 o 40380
X 6 X 9 X 4 X 2
40,380 75,330 11,556 11,378 0. 75,330
1 11,556
» 11,378
13 14 15 16
) 3,583 ) 5,217 ) 7,385 ) 3,632 s 32247
X o} X 6 X o] X 5
32,247 31,302 66,465 18,160 1 31,302
15, 66,465
6. 18,160
17 18 19 20
) 1,463 ) 4,229 ) 5,758 ) 7,143 . 8778
X 6 X 7 X 6 X 5
8,778 29.603 34,548 35,715 1. 29,603
9. 34,548
0 35,715
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